Pp = 98
dch =30

10

dICA:

1
o

SPCp -
tlp := 6min
25 = 4min
t3p = 4min
t4, = 10min
Xpp = 2100

XSp = 2100

Full Costing and Variable Costing 1

IMCfix := 3820
POH1fix := 28600
POH2fix := 11480
POH3fix := 27540
POHA4fix := 10600
AC = 76326

SC .= 114489
DMC:= dmcp Xpp + dmegXpg
DMC = 191000
IMCvar := 0.03IDMC
IMCvar = 5730
pohlpm := 0.5min 1

poh2pm := 0.3min 1

pg = 107

dch =32

|
(o]

dicg =
speg = 2

tlg := 4min
t2g := 2min
t3g := 3min
t4g := 8min
Xpg = 4000

Xsg = 3960
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Full Costing and Variable Costing 1

poh3pm := 0.45min 1
. =1
poh4pm := 0.3min

POH1var := pohlpmMilsXpp + pohlpmiilg Xpg

POH1var = 14300

POH2var :

POH2var = 4920

POH3var :

POH3var = 9180

POHA4var :

POH4var = 15900

Cost per unit and result per unit (full costing)

IMCfix + IMCvar

poh2pm(i2, Xpp + poh2pmi2g Xpg

poh3pm(iB3, Xpp + poh3pmiBg Xpg

pohdpm(@4, Xpp + pohdpmEAg Xpg

IMCfix + IMCvar

imcfull 5 := [dmc imcfullg := [dmc
A DMC A B DMC B

imcfuIIA =15 imcfuIIB =16
dlCA =10 dlCB =8

ixX + ixX +
pohlfuIIA - POH1fix POHlvar[ﬂ:L pohlfuIIB - POH1fix POHlvar[ﬂ:L
pohlfullp =9 pohlfullg =6

ixX + ixX +
poh2full = POH2fix POH2var[fQ poh2fullg = POH2fix POH2var[fQ
poh2full o =4 poh2fullg =2
poh3fuIIA - POH3fix + POH3varEEB poh3fuIIB - POH3fix + POH3varEEB
poh3full p =7.2 poh3fullg = 5.4

ixX + ixX +
pohdfull = POH4fix + POHA4var @ pohdfull = POH4fix + POHA4var
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Full Costing and Variable Costing 1

pohdfull o =5 pohdfullg = 4
pohfull o := pohlfull o + poh2full o + poh3full o + pohdfull o
pohfull g := pohlfullg + poh2fullg + poh3fullg + poh4fullg
pohfull o =25.2 pohfullg = 17.4
spcy =0 spcg =2
mcfull p := dmcp + imcfull o + dicy + pohfull o + spcp

mcfullg := dmcg + imcfullg + dicg + pohfull g + spcg

mcfuIIA =66.7 mcfuIIB =61
MCOGSfuIIA = mcfuIIADtsA MCOGSfuIIB = mcfuIIBDtsB
MCOGSfull A = 140070 MCOGSfuIIB = 241560

MCOGSfull := MCOGSfull , + MCOGSullg

MCOGSfull = 381630

FAT Mcgc(;:smn mefulla *B Mcgc(;:smn mefullg
acy = 13.34 acg =122

Cp = @mncfulm scg = @mncfulle)
scp, = 2001 scg = 18.3

tcfull o = mcfull , + acp + scp tefullg := mefullg + acg + scg
tcfull , = 100.05 tefullg = 91.5

rp = pp — tefull o g = pg —tcfullg

rp =-2.05 rg = 155

Cost-of-sales results accounting (full costing)
Sp = PalXsp Sg = pglXsg

Sp, = 205800 Sg = 423720
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Full Costing and Variable Costing 1

S:=Sp+Sg
S = 629520

TCOGSfuIIA = tcfuIIADtsA TCOGSfuIIB = tcfuIIBDtsB

TCOGSfull o = 210105 TCOGSfullg = 362340
TCOGSfull := TCOGSfull o + TCOGSfullg
TCOGSfull = 572445

Rfull o := Sy — TCOGSfull o Rfullg := Sg = TCOGSfullg

Rfull o = -4305 Rfullg = 61380

Rfull := RfuIIA + RfuIIB

Rfull = 57075

Total cost results accounting (full costing)

Sp = PaXsp Sg = pglXsg
Sp = 205800 Sg = 423720
S:=Sp +Sg
S = 629520
ICfull 5 = mcfuIIA[@pr - st) ICfullg := mcfuIIB[@xpB - st)
ICfully =0 ICfullg = 2440

ICfull .= ICfuIIA + ICfuIIB
ICfull = 2440
TPfuIIA =Spt ICfuIIA TPfuIIB =Sg+ ICfuIIB
TPfull , = 205800 TPfullg = 426160
TPfull := TPfuIIA + TPfuIIB
TPfull = 631960
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Full Costing and Variable Costing 1

TCOPfull p := TCOGSfull p + ICfull o
TCOPfuIIA = 210105
TCOPfull := TCOPfull 5
TCOPfull = 574885
Rfull o := TPfull , = TCOPfull p
Rfull = -4305

Rfull := Rfull  + Rfullg
Rfull = 57075

Cost per unit and result per unit (variable costing)

dmcp =30

IMCvar
MC

Eiich

imcvarA =

imcvarA =09

dlCA =10

POH1var

pohlvarp =

pohlvarp =3

POH2var

poh2var 5 =

poh2varp = 1.2

POH3var

poh3var 5 =

poh3varp = 1.8

POHA4var

pohdvar 5 =

pohdvarp =3
pohvar := pohlvarp + poh2varp + poh3varp + pohdvar 5

-5-

TCOPfuIIB = TCOGSfuIIB + ICfuIIB
TCOPfull g = 364780

RfuIIB = TPfuIIB - TCOPfuIIB

Rfullg = 61380

dmceg =32
imecvarg == MCvar [dmc
B~ bmc B

imcvarg = 0.96
dlCB =8

POH1
pohlvarg = vay
pohlvarg =2

POH2
poh2varg = va
poh2varg = 0.6

POH3
poh3varg = Vel

poh3varg = 1.35

POHA4var

pohdvarg =

pohdvarg = 2.4
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Full Costing and Variable Costing 1

pohvarg := pohlvarg + poh2varg + poh3varg + pohdvarg
pohvarp =9 pohvarg = 6.35
spcp =0 speg = 2
mevarp (= dmcpy + imevarp + dicy + pohvarp + spep

mevarg := dmeg + imevarg + dicg + pohvarg + speg

mevary = 49.9 mevarg = 49.31
tovary (= movary tevarg := mevarg
CMp = pp — tovary cmg = pg -~ tevarg
cmp =481 cmg =57.69

Cost-of-sales results accounting (variable costing)

CMp = cmpXsp CMp = cmpgXsg
CMp = 101010 CMp =228452.4
CM = CMp + CMp
CM = 329462.4
Cfix := IMCfix + POH1fix + POH2fix + POH3fix + POH4fix + AC + SC

Cfix = 272855

Rvar := CM - Cfix
Rvar = 56607.4

Total cost results accounting (variable costing)

Sp = PaXsp Sg = pglXsg

Sp, = 205800 Sg =423720

S:=Sp+Sg
S = 629520
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Full Costing and Variable Costing 1

ICvarp = mcvarAE@pr - st) ICvarg := mcvarBE@xpB - st)
ICvarA =0 ICvarB =1972.4
ICvar .= ICvarA + IQ/arB
ICvar =1972.4
TPvarA = SA + IQ/arA TPvarB = SB + IQ/arB
TPvar A= 205800 TPvarB = 425692.4
TPvar .= TPvarA + TPvarB
TPvar = 631492.4
TCOGS\/arA = tcvarADtsA TCOGS\/arB = tcvarBDtsB
TCOGS\/arA = 104790 TCOGS\/arB = 195267.6
TCOGSvar = TCOGS\/arA + TCOGS\/arB
TCOGSvar = 300057.6
TCOPvarA = TCOGS\/arA + ICvarA TCOPvarB = TCOGS\/arB + ICvarB

TCOPvarp = 104790 TCOPvarg = 197240

TCOPvar := TCOPvar, + TCOPvarg
TCOPvar = 302030

Rvar := TPvar — TCOPvar — Cfix

Rvar = 56607.4
Legend
Subscripts A, B for products
p = Selling price
dmc = Direct cost of materials per unit
dic = Direct cost of labour per unit
spc = Special direct production cost per unit
t1 = Production time in stage 1 per unit
t2 = Production time in stage 2 per unit
t3 = Production time in stage 3 per unit
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Full Costing and Variable Costing 1

t4 = Production time in stage 4 per unit

Xp = Quantity of goods produced

XS = Quantity of goods sold

IMCHix = Fixed indirect cost of materials

POH1fix = Fixed production overhead stage 1

POH2fix = Fixed production overhead stage 2

POH3fix = Fixed production overhead stage 3

POHA4fix = Fixed production overhead stage 4

AC = Administration cost (fixed)

SC = Sales cost (fixed)

DMC = Direct cost of materials

IMCvar = Variable indirect cost of materials

pohlpm = Variable production overhead stage 1 per min
poh2pm = Variable production overhead stage 2 per min
poh3pm = Variable production overhead stage 3 per min
poh4pm = Variable production overhead stage 4 per min
POH1lvar = Variable production overhead stage 1

POH2var = Variable production overhead stage 2

POH3var = Variable production overhead stage 3

POH4var = Variable production overhead stage 4

imcfull = Fixed + variable indirect cost of materials per unit
pohZfull = Fixed + variable production overhead stage 1 per unit
poh2full = Fixed + variable production overhead stage 2 per unit
poh3full = Fixed + variable production overhead stage 3 per unit
poh4full = Fixed + variable production overhead stage 4 per unit
pohfull = Fixed + variable production overhead per unit
mcfull = Fixed + variable manufacturing cost per unit
MCOGSTull = Fixed + variable manufacturing cost of goods sold
ac = Administration cost per unit

sc = Sales cost per unit

tefull = Total fixed + variable cost per unit

r = Result per unit

S = Sales (value), turnover

TCOGSfull = Total cost of goods sold in full costing

Rfull = Result in full costing

ICfull = Inventory change in full costing

TPfull = Total performance in full costing

TCOPfull = Total cost of goods produced in full costing
imcvar = Indirect cost of materials per unit

pohlvar = Variable production overhead stage 1 per unit
poh2var = Variable production overhead stage 2 per unit
poh3var = Variable production overhead stage 3 per unit
poh4var = Variable production overhead stage 4 per unit
mcvar = Variable manufacturing cost per unit

tcvar = Total variable cost per unit

cm = Contribution margin per unit

CM = Contribution margin

Cfix = Fixed cost

Rvar = Result in variable costing

ICvar = Inventory change in variable costing

TPvar = Total performance in variable costing

TCOGSvar = Total cost of goods sold in variable costing
TCOPvar = Total cost of goods produced in variable costing
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